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0.000 1.80 1.900 0.00
5
2.000 1.80 1.800 3.60
0.000 1.60 1.700 0.00
6
1.626 1.60 1.600 2.60
0.000 1.40 1.500 0.00
7
6.626 1.40 1.400 9.28
0.000 1.60 1.500 0.00
8
6.000 1.60 1.600 9.60
2
m m
& i 24.252 40.28 —40.3
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% 5 B E K H
% B O%® ks HERNR BAfsL % E
BEET
AJOvy BJOwvsH coovy
EE 11.990 6.232 7.990 m 26.212
HEEGER 12.000 6.252 8.000 m 26.252
FFEEE 61.471 30.225 33.159 m’ 124.855
5 (EE-ER) 5.13 485 415 m 4.76
avy)—k | o ck=24N/mm2 37.118 18.522 20.627 m® 76.267
g s BmtEEY 111.13 56.01 57.748 m’ 224.888
#HLarvy)—k =100 6.00 3.13 4.00 m’ 13.13
0 ck=18N/mm2 0.600 0.313 0.400 m® 1.313
N BLE 1.20 0.63 0.80 m’ 2.63
RIBT HERIS 104.55 60.45 56.100  Hhm’ 221.10
S5 D13 1118 535 648 kg 2301.0
B ik t=20mm 3.08 2.73 - m’ 5.81
KiRE/AT VP ¢65 OKrEREIL V- L BIRETE X 0.50(E[F)] x 1/3
( 40.28 % 0.50) x1/3 m 6.71
XKIRE/SATIFEE T FEHO T BIRBEARET .
EBRT HM L BOREE A=40.28m2
WHELFFLEHM  HA7E t=10mm (X BHIRETE) x1/3
40280 %x1/3 =13 13.0

13 % 0.30 X 0.30 m? 1.17
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FUoh—RBRLBHEE L=26.3n
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% HO% s it ' R BART =1
1.0 471 TR m 11.990
(FTEGEBER) m 12.000
XIEEmEIE A= (5.70+5.20) /2 % 11.990- (2.75+3.00) /2 X 0.50
-(4.75+5.00) /2 X 0.50 m? 61.471
a41)—k | 0ck=24N/mm2 BE{K  61.471 %050 m> 30.736
KUEZEHE  0.60 x0.80 x 11.990 m> 5.755
Foh—BTER 0104 x 3(&R: 7oh—A)+0.105 X 3(&fF: 7o hH—B) m° 0.627
Bt m 37.118
pily BAEEY 61.471 %2 m? 122.94
T7h—HUFERMER . 1.30X0.50 m? - 0.65
FoA—EFHER  1.20 x 3(EFT: 7o h—A)+1.26 X 3(EEFT: 7o h—B)  m’ 7.23
T BARERERR m? -18.39
Bt m 111.13
#HLavs)—k o ck=18N/mm2 0.50 X 12.00 m? 6.00
6.00%0.10 m> 0.600
E kB HLER 0.10 X 12.00 m? 1.20
BT HERE 61.471 %2 Hhm® 122.94
+ BiRERIERR Hhm® -18.39
a5t #im’ 104.55
E59:] D13 Foh—RBEMTBHERERGRATOYI) LY | ke 1082.0
ToA—BTER 6 x6&E R kg 36.0
&5t ke 1118.0
B ik t=20mm @@ 5.20 X 0.50+0.60 X 0.80 m? 3.08
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Bt m 18.522
pily BAEEY 30.225 X 2 m? 60.45
T7h—HFERMER . 1.30X0.50 m? - 0.65
FUN—EFER 120 x 2(BFF: 7oh—A)+1.21 X 2(E&fT: 7o h—B)  m’ 482
T BARERERR m? - 8.61
Bt m 56.01
HLavs)—k | ock=18N/mm2 0.50 X 6.252 m? 3.13
3.13x0.10 m> 0.313
E kB HLER 0.10 X 6.252 m? 0.63
BIBT HERS 30.225 % 2 Hm’ 60.45
T B R ERIERR Hm’
BEt Him’ 60.45
E59:] D13 Foh—RBEMTBHERREGRBIOVI) LY | ke 511.0
ToA—BTER  6keg X 4EFR kg 24.0
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B #hik t=20mm wa@ 450 X 0.50+0.60 X 0.80 m? 2.73
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(FTEGEBER) m 8.000
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a4)—k | 0ck=24N/mm2 BE{K  33.159 X 0.50 m> 16.580
KiEZHE  0.60%0.80 X 7.990 m> 3.835
Foh—B{TE 0106 x 2 (&fF: 7> H—C) m> 0.212
Bt m 20.627
pily BAEEY 33.159 X 2 m? 66.318
T7h—HFERMER . 1.30X0.50 m? - 0.65
Foh—E+E  1.15%x 2 (T 7> H—C) m? 2.30
T BARERERR m? -10.22
Bt m 57.748
#HLavs)—k o ck=18N/mm2 0.50 X 8.000 m? 4.00
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% = £ £ & =
2 o m= SEME By =
JphO1ET
15/hO1kE&H 25/hAO1ESD
5 47 38 m 4.25
av9)—k | 0ck=24N/mm2 3.565 2,570 m° 6.135
B BEEY 13.78 9.8 m? 23.58
Bi5T HERIS 13.78 9.8 fhm? 23.58
%55 D13 193 151 kg 3440
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£ £ 15/0O1d N = H F £
2097 500
BRI
v1314.17
/
v1310.0
707 890 | 500
2097
% B O® s it OE A BAfr 2
1.0 LY
Al miEA= 4.700 X 2.097-(1.334 X 0.890/2+1.334 x 0.707+
3.366 X 0.707/2) m?’ 7.13
avy)—k 0 ck=24N/mm2 7.13x0.50 m? 3.565
pilp SEiEEY 7.13 x 2-0.60 X 0.80 (B¥ [ T R ik &5 E i) m? 13.78
RiI5T HERIG 7.13 x 2-0.60 X 0.80 (B¢ T K i 25 EiER) Hm’ 13.78
5] D13 15/hO1EHEHRHKY kg 193.0
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N
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S ———
v1309.0
500 | 869 474
1843
% B O® e it OE A BAfr £
1.0 LY
Al miEA= 3.800 X 1.843-(1.431 X 0.869/2+1.431 X 0.474+

2.369 % 0.474/2) m?’ 5.14

avy)—k 0 ck=24N/mm2 5.14 X 0.50 m? 2.570
pilp SEiEEY 5.14 X 2-0.60 x 0.80 (B¥H T X it &5 Ei%ERR) m? 9.80
BT HERS 5.14 X 2-0.60 x 0.80 (B H T X it i5 E1%RR) Hm® 9.80
5] D13 25/hALEHEHRKLY kg 151.0




[(BEm7oh—XILEREET  Fikav Y —+T]

o E

oHE

fEgar o) —rEEEL AR

3R 57— (t=10cm)

B R = B BE . . . .
’ W E FHEHE M R mOTHNE ¥ B B B THNE g THE 8
NO. 0 + 8500 3.6 1.49
NO. 0 + 10.000 1.500 3.6 3.60 5.4 1.49 1.490 224
NO. 1 10.000 3.9 3.75 37.5 1.59 1.540 15.40
NO. 1 + 10.000 10.000 1.6 2.75 275 1.20 1.395 13.95
NO. 1 + 16.900 6.900 1.6 1.60 11.0 1.20 1.200 8.28
KRV Y~ (V)
3
m
39.87x0.10 3.987
XFEiRI D! —h Bl CON/10
3 2
m m m m
& & 28.400 81.4 39.87 3.987/10 0.40




(BR7 o A—XNBEET 7o h—T]

B = & H %
& ® A8 okes i ' R B =

Foh—I TE:A-1~A-5 p:N 5.00
Al L av9)—k AR RSHR m 0.00
(HIFLEE: $90) st " m 2097
e (D) " m 20.76
#a(cL) " m 21.32

(Foh—##)

g %) (1x ¢20.3) L R i m 66.50
BHERHHEBH  HUIFLUAES($26.7) AREETRSR m 66.50
L&YY ¢ 42, L=380 1%5 p:N 5.0
TERY VY 42, L=240 1%5 p:N 5.0

Fybk L=72.7mm, H=34mm 1%5 {& 50
Tuh=7'L—+ 240 x 240 X 30 2%5 " 10.0
AbynN =2 ® 70, L=165 1%5 & 5.0

EEK ¢ 486, L=1700 1%5 p:N 5.0

AN —H— 68, L=146 2%X5 & 10.0

Foh—Fvy7 L=205 1x5 & 5.0
SEEBFAEAE M 0.86 x5 kg 4.30

FEANRAT ISubiA4T M R+05x 7o h—A$=66.5+0.5%5 m 69.0

T304 0 ck=24N/mm2 71 /4 %(90/1000)"2 x X (1+2.2) m® 1.284

TUh-SHMT 43 BA | FCA00KNSRSE L=10m ¥:N 0.0

fC400kNK# L>10m V. 50

IR TELDANIE  f<A00KNK PN 5.0

R 5<% [al 2.0
Foh—I L& :B-1~B-5 p:N 5.00

Al L av9)—k AR RSHR m 13.64
(HIFLE: $90) MEL " m 17.72
e (D) " m 22.06

#a (CL) " m 21.63

(Foh—##)

g %] (1X ¢17.8) L R i m 78.50
PHERHEBH HUIFLUMER($24.2) AREETRSR m 78.50
L&YY ¢ 40, L=350 1%5 p:N 5.0

EBvvay ¢ 40, L=240 1x5 y.N 5.0

Fybk L=72.7mm, H=34mm 1%5 {& 50
Tuh=7'b—+ 220 % 220 X 28 2x5 54 10.0
AbynN =2 ® 70, L=165 1%5 & 5.0

EEK ¢ 45.0, L=1400 1%5 p:N 5.0
AN —H— 65, L=146 2%X5 & 10.0




(BR7 o A—XNBEET 7o h—T]

H E FH B £
& ® A8 s i ' R B =
Foh—Fvy7 L=205 1x5 & 5.0
SEEBFA A 0.86 x5 kg 4.30
FEANRAT IoubiA4T M R+05x 7o h—A$=785+05x%5 m 81.0
iarlN] 0 ck=24N/mm?2 71/4%(90/1000)°2 x X (1+2.2) m® 1.528
TUh—SAF NI - 4B HEA
fC400kNK# L>10m V. 50
IR TELDANIE  f<A00KNZK PN 5.0
R 5<% [al 2.0
Foh—T C-1-C-2 ¥:N 2.00
Al L av9)—k AR RSHR m 5.04
(HIFLEE: 9 90) MEL " m 11.86
#= (D) " m 6.43
#a (CL) " m 9.63
(Foh—##)

i (7% ¢9.5) AR RSHR m 34.50
PHERHEM  HUIFLUHsES(434.9) ARESTRSR m 3450
EEBYU Y ¢ 48, L=400 1%5 p:N 2.0

&Yy ¢ 48, L=240 1x5 y.N 20

Fybk L=86.6mm, H=45mm 1%5 {& 20
Tuh=7'b—+ 260 % 260 X 36 2x5 54 40
AbynN =2 75, L=165 1%5 & 2.0

EEK ¢ 54.0, L=2100 1%5 p:N 20

AN —H— $ 69, L=146 2x5 1 4.0

Foh—Fvy7 L=305 1x5 & 2.0
SEERRAEH A 0.96 x 2 ke 1.92

FEANRAT PAINA% P4 M R+05x 7o h—A$=345+05x%2 m 35.5
T304 0 ck=24N/mm?2 71/4%(90/1000)"2 x X (1+2.2) m® 0.671

TUh—SAF T - 4B HEA

fC400kNK# L>10m V. 20

RIREETELDANIE  f<A00KNK PN 2.0

Toh—Ri5 W=4.5m Zem’ 301.3




(Zoh—#

EWERFE:A-1~A-5]

T h—ARE BlFLE (m) : 90 4+ &
avHy—h TR = = .
(X) (REE-BEsR) | qeEd) | e | o | BEIFLE (m)
A 5 0.00 20.97 20.76 21.32 — 66.50
&5t 5 0.00 20.97 20.76 21.32 — 66.50
Toh—8HER
. HIFLE (m): ¢ 90 K |TL—HE| BEBEE| E&ER WM E
7/7;— EOZOESS +# & &

5 (ROEE-BEER) | (gE+) (BEDHR) | @EEcLik) (m) (m) (m) (m) (m)
A-1 0.00 3.95 413 423 0.08 0.06 0.55 3.00 13.00
A-2 0.00 3.71 429 431 0.08 0.06 0.55 3.00 13.00
A-3 0.00 3.98 455 428 0.08 0.06 0.55 3.00 13.50
A-4 0.00 415 420 446 0.08 0.06 0.55 3.00 13.50
A-5 0.00 5.18 3.59 404 0.08 0.06 0.55 3.00 13.50
INET 0.00 20.97 20.76 21.32 0.40 0.30 2.75 15.00 66.50




(Zoh—#

EWiRFE :B-1~B-5]

T h—ARE BlFLE (m) : 90 4+ &
EDCIENY +8 = =
(X) s | et | @reEoi) | @EcL — (m)
B 5 13.64 17.72 22.06 21.63 — 78.50
At 5 13.64 17.72 22.06 21.63 78.50
Toh—8HER
. Bl FLE (m) : ¢ 90 52Kk |FL—HE| BEEE | R it &
TYA— [aopu—r| +# = =
=5 (ROEE-BEER) | (gE+) (BEDHR) | @EEcLik) (m) (m) (m) (m) (m)
B-1 2.86 3.18 4.46 4.31 0.08 0.06 0.55 3.00 15.50
B-2 2.90 2.87 4.61 4.43 0.08 0.06 0.55 3.00 15.50
B-3 2.95 3.07 4.83 4.46 0.08 0.06 0.55 3.00 16.00
B-4 258 3.68 4.39 4.16 0.08 0.06 0.55 3.00 15.50
B-5 2.35 4.92 3.77 427 0.08 0.06 0.55 3.00 16.00
INET 13.64 17.72 22.06 21.63 0.40 0.30 2.75 15.00 78.50




[7oh—$=RER%E:C-1-C-2]
T h—ARE BlFLE (m) : 90 4+ &
avs—k ) = = .
(X) - | ggrat) | @i | Grecip | BREIALE (m)
C 2 5.04 11.86 6.43 9.63 — 34.50
&t 2 5.04 11.86 6.43 9.63 — 34.50
Toh—HEX
. HIFLE (m): ¢ 90 K |TL—HE| BEBEE| E&ER WM E
TYA— [aopu—r| +# = =
5 (ROEE-BEER) | (gE+) (BEDHR) | @EEcLik) (m) (m) (m) (m) (m)
C-1 2.50 5.70 3.18 485 0.1 0.08 0.59 3.50 17.00
Cc-2 2.54 6.16 3.25 478 0.1 0.08 0.59 3.50 17.50
It 5.04 11.86 6.43 9.63 0.20 0.16 1.18 7.00 34.50




7oh—I [A: FE&)

HEE

. o B 215
Al =1 AfE e B : = , = y = s =
Br | FEHETE = E T = E T = E T =
No. O 8.500 41
No. O 10.000 1.500 4.1 410 6.2
No. O 11.500 1.500 41 410 6.2
No. O 12.500 6.1
(No. 1 7417 6.1 6.10 45.2
(No. 1 45
(No. 1 10.000) 6.093 45 450 274
m 7Zm
& i 16.510 85.0




7oh—I [B:LE)

TUN—RBHE

HEE

. o B 215
B:| =1 AfE e B : - , - , ; - ; -
Br | FEHETE = E T £ (B || FHUEE = E T =
No. O 8.500 8.8
No. O 10.000 1.500 8.8 8.80 13.2
No. O 11.500 1.500 8.8 8.80 13.2
No. O 12.500 9.0
(No. 1 7417 9.0 9.00 66.8
(No. 1 9.0
(No. 1 10.000) 6.093 9.0 9.00 54.8
m 7Zm
& i 16.510 148.0
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HEE

7vh—I [c]
AR REER & & Elziﬁfﬁ%iﬁ B W E THNE 8 T B W E ToME % B
(No. 1 + 10.000) 9.2
No. 1 + 16.900 7.425 9.2 9.20 68.3
FUh—RiB%E
A 85.0
B 148.0
m 22,3 c 68.3
& 3 7.425 68.3 e 3013 2o’
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